Ex.1 Solve.
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Solving Exponential Equations (part 2)
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Ex.2 Solve by guess and check.
(@ 2°=9 (b) 377 =25
welnow 3=9 3%- 23
x>2 2.8 =
ek 252§ oy 2iE
% >3 3 =2v19
o %x=3,2 3% = 26.00)
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Ex.3 Solve 32 —-3* =216 W+
353 -3 =21

2 (2~ 1)=21
3 (a-0) =2
2% (§) =216
—® %
Bx =274

3* =33
> ko)
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Ex.4 Solve

(@) 2% -2 =12

zzc‘(qg)!
= "
= (2')"

A a2
X-a-n=Q

a4 «® a=-3
=y
3

2
&)-2*21 G- sYa-2)=0
& -0 =2

(a-9)(as3)=0

(b) 25"-30(57)+125=0
(59 ~30(sY +125 =0

5 - 2o(sY 41250
bt a=5™

A" =30a 42520

0= e a=2%
§*=¢ g*=2¢
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Exercises:

(vesterday) photocopied handout # 1, 3, 4, 7, 9d

(today) handout # 5
pg. 23 # (10, 11)(odd), 19, 20

(+4)
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